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Math-2
Lesson 3-3

T1-84 Calculator

Try this on your calculator:

a. Set your “winc.iow” to "’}{m?ﬁg -5
x(min) = -5 gase=y
x(max) =5 ¥min=-28

N Ymax=28
y(min) = -20 ¥scl=1
y(max) = 20 BERES]

b. Graph the following 7 = 2)(2 ] —T

c. Does the parabola open up or down?

d. How many “x-intercepts” does it have?

y=" enter
equations here

Flotl Flotz Flots N

WNB2KE+4E-FR
se=
whz=
sNy=
wNe=
“Ve=
W=

‘X’ variable
button

T1-84 Plus
| &P TExAS INSTRUMENTS.

“Window” allows
you to adjust the

X-y axis scale.

1 I HOOL
amin=-9

Compare the “tic” marks y-

\ / axis to those on the x-axis.
Why are they different?




X-min: the left end of
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Using the same equation, change your window

a. Setyour “window” to WIHDOL
Ly wmin=-18
x(min) =-10 §m3T=%B
— SC1=
x(max) =10 3,.11,,:2-%
i = - Max=
y(min) = -20 Yscl=1
y(max) = 20 drres=1

b. Graph the following 7 = 2x2 ] —T

Flotd Flotz Flot:

c. What happens to the shape of the graph?
d. Why did it change?

the x-axis that is visible Hres=1
in the window. \ /
(®43-2-1012345 |
WIHDOW
Emin=-5
Emax=5
necl=1
max=28
Hres=1

\ .
\Ji/

[ y-ma)é the top

end of the y-axis
that is visible in
the window.

N AN

N v N %

#scl=1 . \ Was Copied /
This portion grrgaw

Amin=-5

of the display (= Then “Stretched” to fit

L¥res=1

gecl=1 the calculator display

Changing the window settings can cause vertical
stretching of the graph without changing the equation!!!




Using the same equation (that you already entered):

a. Setyour “window” to

. WINDOW
x(min) =-20 g;;ggfgﬁ
x(max) = 20 Unin=-20

. Yrax=20
y(min) = -20 yscl=1

y(max) = 20
b. Will the graph be narrower or wider?

c. Graph the same equation R TRERE
:$;EZX2+4X—?I

— Yz’ NiE
y=2x"+4x-7 R
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T1-84 Plus
P TEXAS INSTRUMENTS

“2nd Calc” allows
you to use the
“‘power of the
calculator”.

“2nd" allows
buttons to have
more than one
feature

ualue
fzero

Jiminimum

4 maxinum

Stintersect

&5 ol

i Gk dx

NEVA RN/ x

SV i Y

WIMDOL WINDOW WINDOU

¥min=-5 #min=-18 ¥min=-28
Hmax=5 Amax=16 Xmax=200
Yecl=1 ®ecl=1 ascl=1
Ymin=-20 Ymin=-28 Ymin=-28
Ymax=20 Ymax=28 Ymax=208
¥scl=1 vscl=1 Vscl=1
Wres=1 dires=1 d¥res=1

As you increase the width of the window, the graph
occupies a smaller and smaller portion of the window.

To return the “window” to the standard +/- 10 units hit
“zoom”

WINDOW

bEres=1

“2nd Calc”

=
“value”: —»[Hualue
=ZEFO

calculates an  Ziminimum
fmaximum

output value for5 fintersect
your input. S

Try this for x = 2
(it will use the

equation you've
entered into “y=*
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“2nd Calc”
E]
Mallle
38 ﬁ?:fmum
“maximum’ \N.maimun .
1ntersec
finds “relative &2 dardx

minimum” values 73 ¢adx
of the function in

“2nd Calc”
=
‘zero”. ——— Mvalue
izZero
calculates Jimininun
« " :max1mum
zeroes” of the  3iintersect
H H i “® : = dx
equation in “y=" 7:Iflxodx
I'll show you how
to do thisin a
minute.
“2nd Calc”
=
“minimum”: S o

. « . Jiminimum

finds “relative 41 maximum
fintersect

minimum’ valuess durdx

of the function in 2cdche

“y=l£-
“2nd Calc”
El

walue
fZero
Iiminimum
41 maximumn
Siinterzect
Sk,

“intersect”: AL

finds the location of where
two graphs cross (must
have 2 equations in “y=".
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“2nd Calc”

izZero
fminimum
i maximum
fintersect
fousdx

P Cxoadx

ltems ‘6’ and ‘7’
are used in calculus

TI-84 Plus
9 Texas InsTRUMENTS

y=4x-17

0 1 2 3 4

Y

Repeat the previous steps to

“2nd” + ngraphn

fill in the rest of the table.
here’s an easier way to do this.

v y=4x-7
Find the y-value

that corresponds
to an x-value of 3.

Enter the equation

=
walue
fzero
fmininum
: Max1Muan
tintersect
&5 oo dx
7S xdx

Ol

into the “y-editor”
— “2nd” + “calculate

Type ina “1”
Type in 2’ for x.

Finding where lines cross.
1. Enter the following 2 equations.

y=2x-4 y=-2x+4

“2nd” + “calculate”

El .

walue Answer the questions >

St mini num “enter” means “yes”
42 maximnum

E'intersect

7

;dsfdx
IO




Finding the vertex.

Floti Flokz Flots
1. Graph the equation. :3;5-(#:—2)%3
wMr=
wHy=
~Ne=
“NE=

2. Where is vertex?

0.

R
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Use the “power of the calculator” to find the vertex.

1. Graph the equation.

T

IR

2. What buttons do you push to use the “power of the
calculator” to find the function’s maximum value?

value

“2nd” + “calculate” + “4” (“maximum”) |£:zero

Jiminimum
42 max imum
S8 intersect
(SR e I
rESFCidx

Vocabulary

Maximum/minimum: The highest or lowest point on the
graph.

What are the coordinates
of the maximum?

3,-4)

We must “bracket” the vertex.

Move the “cursor” on the
graph to the left of the
vertex and push “enter”.

Move the “cursor” to the
right side of the vertex
and push ‘enter’.

Guess and x-value of the

vertex and push “enter”.

L Bl i

Guess? {E
K=z

Y= (H-2)"2+3

LeftEound?
n="BE1063A IY=-E.1ZBEEE

1= '(3-23“2;3’-

Ridht Bound?
#EY.EEEF18Z (V= -Z.0BE4EN

Haxirun /
w=z Y3

(2, 3) (absolute) maximum




